Integer Division (A) Answers

96+ (—13) = (—8)
(=63} = (=9} =1
2+12=h
I5+5=7
(=24)=({—12)ml
14+2=7
(—66)+11={-8)
18+9=12
hdrE=¥
Hd+12=T7
{—d0)5{—5)=8
{=6)%(-1) =6
(=T} {=Th=10
2B+ (=T)=1—4]
(—48)={—12)=4
(=123 10=(-12)
(=132)4(=12)=11
I = {—12)=[-12)
55+5a]l
{—45) = (-9} =5
Ax-1=4
S5+(-5)=(-1)
(=15} +3=(-5]
(—24)=4=(-6)
(—36)+3=(—12

Find each guotient,

(=4 = (—1D)=4
(=8} +2=(-—4)
33dL11=3
(=23)+3=1{—7]
(—96)=8m{—12)
1)+ (-7 =2
{—63)=9={-T|
18+ {—2)={—%
(=) + (=) =11
{—25)+(—5)=5
I+=-1=1-1)
(~24)=12m|-2)
N {-5)=(—6)
66+ (—6]={-11}
{=14)=Tw|—2)
1047 =10
F+1=1
(—=2B)=T=({—4|
2+ ({-T=({-3

120 (-1 =(-12)

66 (—11)=(-6)
{—6)+{—6)=
50+ 5= 10
Uptk=12
Mrd=h

{(—=35) +3={—11)
{=00) + (~10) =9
W=T=7

48 5-{—4) =(-12)
60 {—5) m {12}
(—l6) ~2=| —#)
80+ (=10} = -8)
6= (—8) = {—8]
60210} =6}
(-22)+2={-11)
2+2=]
(=) 5 [~4 =6
S0=10=5

(=721 +12=|-6)
T2+{—0) m {12}
(=56) B =|-T)
{=T0) 4+ (—10)=7
14+7=2
(=27)+9= (-3
B (-4 ={-T]
{—36) + (-9 =4
B (—1mi—8
541h=9
{—12) & (-6)=2
Wsd=T

61+-9=17
Jo-[—=6)=1-08)
(—100) =10 = | —10)
0+ 10=2
(=30} =5 = (—0)
(=1~ 1M ={—11)
(—36)=(—12) =1
d+4=]

(=110) = {=11)= 10
(—56)+(—8) =7

(—2E)={=3) =T
W= mi-11]
I+(=-3)=1-1)
15+3=3
(—36)=({—=3) = 12
1204 10=12
(=2 =110
I+h=3

(=20} 5{-4) =5
1Z=(—=1)=(-12)
244+3=H
Brdw?
(=36)+6=[-R)
Gli+5=]12
(—8B)=11=(-8
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